Winecon/thresholds project
Ch. 11

Circular Flow Model of the Economy

Introduction
After covering the basics of this topic in the lecture we are now going to reinforce this ideas by working through part of chapter 11 of Winecon.  You do not need to work through all of chapter 11, but only the relevant sections that are identified below in order to answer the questions on this sheet. 

Section number: 
11.2 Circular flow of income and expenditure




Topic: Basic concepts: firms and households



Topic:  Basic concepts: aggregate markets
1.  
Draw a diagram (on p.2) showing and explaining the following flows between households and firms:



*consumer expenditure or consumption (C)



*goods and services



*factor services



*factor payments or national income (Y)

Section number: 
11.2 Circular flow of income and expenditure




Topic: Simple circular flow of income & expenditure
2.
In addition to consumer expenditure or consumption, there are other inflows into firms called injections (J).  Identify these on your diagram. 

3.
In addition to income (Y) flowing out of firms, there are other outflows called withdrawals (W).  Identify these on your diagram.                                                                                       

Circular flow diagram
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Section number: 
11.2 Circular flow of income and expenditure




Topics: Full circular flow of income & expenditure




Accounting identities
4.
Identify ALL the injections and withdrawals on your circular flow diagram.

5.
When is the economy in equilibrium?

6. Using the circular flow model, what would you expect the effect to be on an country if withdrawals suddenly increased, eg. as they did in 1973/74 to most world economies when OPEC quadrupled the price of oil, thus increasing payments for imported oil?  

Section number: 
11.6  Exogenous changes in aggregate demand




      
Topic: The multiplier
7. Define the multiplier.

8. What is the value of the multiplier in the Winecon example?  

9. In your own words explain the relevance of the multiplier concept.

10. Using the 'slider' in the Winecon exercise find the value of the multiplier (k) when the marginal propensity to spend or consume (mpc) is 0.7______, 0.5_____
0.3_______ & 0.1______.

What happens to the multiplier's value when the mpc falls?  Explain this.

11.
When the mpc is 0.5, you found the value of the multiplier (above) to have a value of_____.  If businesses are not confident about future sales and reduce investment (I) from £10 bn to £8 bn, what is the change in national income?

12.       Assuming the mpc for an economy is 0.7, the value of the multiplier is _____?  What would be the impact on the country’s level of national income if a big sporting event, such as the Olympics, injected £100m into the economy?

